AR (5 2 Z:BIHR)

FEB AN 5 FHH FHEIOBHR
RN RS AT
1 IV, AARAZ— LIFZHE 50 ETTEIT 300 M
2 X9l LRl >E 10 E T LT 500
3 LB Llz>& 300 M
4 IR LKz o& 3 EHFA—MArETTEIC 750
5 IR ILIZDE 3FEFA—RLVETITEIC 750 1
6 7T—F 1 RIZHDE 3FEHFA—MLETIT LI 900
(== AN 1 Brlzo>% 300 [
8 TEMEBIEILE 1 Mlzo>% 300 H
9 AT IRE 1 #lz>& 300 [
10 JREHE 1 Mlzo>% 650 1
11 >0 FFHER 1z >% 450
12 BERRILE 1Kz >% 300 [
13 MR 1 EIZDE 3 HA—MVETITEIT 800
14 Ef=a2—X, V271K —F 1 %lz>& 6,000 [
15 7 Rb—y 1 fElc>% 1,700 [
16 UTREIESERNILE LD E 2 EHFA—MLETITEIC 800 M
17 E{RRIHIRE LRI DE 3 EHF A=V ETITEIC 650 1
18 RS HE 1 #lc>& 350 4
19 JEEELEAR 1 %ilz>& 1,500 M
20 EIRT 1 Hiz>x 700 4
21 FEWTH 1 #Hiz>& 650 M




